‘ Material: Tungsten
Purity: 99.95% up

@ SIZE:Customized

$5% B Tungsten
€ i atttcorrosion resistance

O =R IEES

Low coefficient of thermal expansion

& K700 Heater Filament

Q{Eamw% B EREE

Excellent thermal conductivity and electrical conductivity

O=inraarFaEEm
Good strength and rigidity at high temperature



& susznesmca K700 (RED-BULL)parts list

OEM e =k Slay =] {5t

1202225-1001 K700 Spindle Inner PH0030-A T“f?::e”

(Egéggg) K700 inner PH0028-A Tungsten
1122631733?: C:E’:f K700 Middle PH0026-A Tungsten
N e S 8

1202002 k700 spindle PM0218-A Moly

K700 Spindle fi34 PIN PMO277-A Moly
1202659 K700Spindle PMO0276-A Moly
Flat head scarw

1209015 MO Rgg(_’rgg\'ﬁ\l SERT PMO0208-A Moly

1225871 K700 #2572 PS0058-A SUS

s | PEATSAELD UMD

Lo0o260 | HEAT SHIELD ROUND 2

,SHAFT HEATER




e K700 (RED-BULL)parts list

OEM E B e LB
1202271 BASE?IT,_AIS::" HEATER M
Taoch | wEATeR | PTOOSTA el
s oH | HeateR | PTOOGOA runeten
TaoacH | HEATER | PTOOSA oten
aoocH | HEATER | PTOOSBA ten
202266 | HEATSHIELD, LOWEREL | pyyopey Moly
arseson | HEATER | PMOZSLA o
areoson | WLHEATER | PMOZSZA o
arooscH | NREATER | PMOZSA o
1202270 | HEATSHIELD.UPPER StiA
oosa7s | PINRET.SHAFT HEATER

HEATSHIELDS




e K700 (RED-BULL)parts list

ELEC, HEATER

OEM A =Sk = [EE
PIN RETAINER,
1202277 HEATSHIELDS PM0272-A Moly
FFAZA )R T fir
K700 M AUz
1204125 TUNGSTEN, FILAMENT PT0041-A Tungsten
SUPPORT
SHAFT FILAMENT
1122&29278208 SUPPORT PT0062-A Tungsten
SPINDEL INNER
FILMENT SUPPORT HOOK
1202263 inner25.8x20.6x1.5 -TW PT0050-B Tungsten
FILMENT SUPPORT HOOK
1202263 inner25.2x20.6x1.5-CH PT0050-C Tungsten
1202393 -TW FIL;\/IA.EZT S;J 6P202Ff£ l_;OSOK PT0050-A Tungsten
1204634 1adie peb.bxtaxt.
TOP LET
1203920 CNCT,FLX,OUTER,HEATR
TER
TOP RGT FLEX ELEC
1203921 OUTER
BOTTOM CNCT, FLX
1203931 ELEC, OUTER, HEATER
BOTTOM CNCT, FLX
1204047 ELEC, OUTER, HEATER
K700 ZE#hH
1203928 SPRING PLATE, FLEX PM0219-B Moly




e K700 (RED-BULL)parts list

OEM e Sk =] =H
HORIZ ELECTRODE,
1204058 OUTER LEFT
2
OUTER ELECTRODE,
1204061 HORIZ, RIGHT
MIDDLE HORIZ
1202233 ELECTRODE, HEATER
K700 Middle & ffi &2
VERTICAL ELECTRODE
: - Mol
1202261 MIDDLE, HEATER( 1 PM0217-A oly
gy AR )
INNER ELECTRODE, LEFT
1202235 HORIZ, HEATER
VERTICAL ELECTRODE,
1202262 INNER, HEATER
INNER ELECTRODE
1202234 RIGHT HORIZ
SHAFT ELECTRODE
1202236 RIGHT HORIZ
SHAFT ELECTRODE LEFT
1202237 HORIZ
- g
1021743 8-32 FLAT HEAD SCREW | " 10005 C(SRERAR
_#8-32)
PM0117-A
1092174 MO SPACER HEATER PMO273A Moly




& suszmesmna K700 (RED-BULL)parts list

OEM e S Slal =] fimst

1093035 LEG LEFT SHAFT HEATER

HEATER

1093037 CLAMP FILAMENT SHAFT

1093036 LEG RIGHT SHAFT I
g

CLAMP, OUTER
1093053-1001 FILAMENT, EPIK 700 PT0036-B

1093079 SCREW 10-32 x 1/2

SCREW 4-40 REDUCED

1012376 HD

BOTTOM BRACKET, FLEX

1204083 SPRING, HEATER
s | IO
| PR
1204082 CLAMP PLATE, FLEX

SPRING




e K700 (RED-BULL)parts list

OEM e Eli Slay =1 =H

ossy | SFRNGPLATEFLEX | pyerp s (| oy

1241019 K700 [H35 81 PC0082-A »”~ Ceramic

-

1095582 Ve 2Bl PC0087-A Ceramic
MBS PC0086-A Ceramic

1097648 P34+ 0D5.1x21.6L PC0091-A £ Ceramic

K465i ~F—1%

1203380 WgZ£AE0D6.4x19L PC0092-A Ceramic

1094373 W2 0D4.6x19L PC0093-A Ceramic

1203059 Pk PC0094-A Ceramic

1028177 MO WASHER #10 mg;iﬁ Moly




B xwmsppmmna K700 (RED-BULL)parts list
OEM @& Sk M8 =H
K700 Hot Fork PC0084-A Ceramic
K700 Filter 25um A
L‘%Hﬁm{ K700 Filter 100pm( 5 ihR PTE&E4E
FILTER:123183 o e
9 /1231838 1) e
K700 Filter 50pm PTE&4E
(K PESERF
K700 PT##(deta) SUS316
1240726 K700 PT/H(PRODATION) PS0073-A SUS316
K700 Holder PGO0116-A Graphite






